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Multipe Choice Objective Questions
1. What is the primary goal of Artificial Intelligence (Al)?
a. Imitating human intelligence
b. Automating all human tasks
c. Creating self-aware machines
d. Mimicking natural processes
sfeftpirra geforala (vams) &1 wrafie dea = €?
a. AT §fea BT 3THRvl
b. T AT H1af B TaaTferd BT
C. T-STITRG A FTT

d. I Ufhanat o Ahe Bl




2. Which programming paradigm is commonly associated with
Al development?

a. Procedural

b. Object-Oriented

c. Functional

d. Logical
DI AT GITHIT AT TR W Al far & o731 87

a. YipITH®

b. T & 3T

C. BIATHD
d. i

3. What does the term "Machine Learning" refer to in Al?
a. Computers learning to perform tasks without being
explicitly programmed
b. Machines with mechanical learning abilities
c. Human learning from machines
d. Computers learning from humans
vams A "meftA @fm oreg ot R aref 7
8. DRI T 7 A YA (P [qTT R AT dlar e 8
b. AT TR DI &FaT arelt 7
c. ST AT B T T 8
d. HEIE $TA A TR 7T 8




4. Which of the following is an unsupervised learning
algorithm?

a. Decision Trees

b. K-Means Clustering

c. Support Vector Machines

d. Random Forest

fererd B @ S a1 v rgferferd fererr vaniRen €2
a. Fofa & U
b. B-H=T FEE R
c. 999 aFer Heta

SELEGIELG

&-HI=T TR VP ATgRATSSs AT TENREH 2 forgar
3T H2ftA AT AT SeT AT B Fere R WERRa B € IR b
fere fdar sar 2|

h. What is the purpose of a neural network's activation
function?

a. Toinitialize the network

b. To introduce non-linearity

c. To control learning rate

d. To calculate loss
AT Acad & AlHIT HaRA B 32T TAT 87




3. 7¢dd 3RH TR & [0

b. TR-3IFrHaT BT IRTT T

c. TR ot @3 o g aa & fore
d. g1F &t 70T A o fere

6. What does the acronym "NLP" stand for in the context of Al?
a. Natural Language Processing
b. Neural Learning Platform
c. Nonlinear Programming
d. Networked Language Protocol
T3S & oM B "TATal” &I Tierad Y T 67
a. TTPHID HTHT G THI00
b. T f2rermr 7
. ATACHARR G
d. 7cdd HTST Yiciod

/. Which technique is used for reducing the dimensionality of
data in machine learning?

a. Clustering

b. Dimensionality Reduction

c. Feature Scaling

d. Ensemble Learning

HMA AT B TeT &Y 3TATHAT B HH B & foTe fovd Tt o1
J9T fh T ST 82
3. TR




b. 3TATHYAT B HHY

[ N\ O
c. BIR Thiet
C. TR A

8. What is the purpose of the "ReLU" activation functionin
neural networks?
a. Ensure network convergence
b. Introduce non-linearity
c. Normalize input data
d. Prevent overfitting
AT Acad H "ReLU" TihA0 HaRM &I 36T FAT8?
a. Add IMHRIRO FHRTT B
b. TR-IRABAT BT IRTT§
C. 1Y€ STT &1 ATHTAIG B
d. 3TaRTBICTT b

9. What is the "Turing Test" designed to assess?
a. Memory capacity of machines
b. Creativity in Al
c. Natural language understanding and intelligence
d. Processing speed of computers

"SR e fpa®T 3Ther B & fore festre foam man €2
a. AN} &t AARY erHar
b. T3S A TTATHG T




C. JTHieD HTT i T 3R Fiew
d. SRR B GRIRT 71f

10. Which algorithm is often used for reinforcement learning?
a. Naive Bayes
b. Q-Learning
c. K-Nearest Neighbors
d. Linear Regression
GIBT HIEA & foTe e b venieH &1 3uT fpam oirer 272
a. TG S
b. F-TT
c. K- usrat
d. 3T gimA

11. In the context of machine learning, what does "overfitting’
mean?
a. The model is too simple
b. The model is too complex and fits the training data too
closely
c. The model is undertrained
d. The model cannot generalize to new data
TN @t & T 7, "3 fefe o o aref 872
a. TTSel 9 WA €
b. HTE@ dsd offee € 3 gierefor 3eT IR T€d ariet # fibe dar 8
¢. TiEa B i fpar a2
d. HTSd AP ST BT TG0 A& B3 bl




12. What does the term "Chatbot" refer to in Al?
a. A robot that can chat with humans
b. A program that simulates conversation with users
c. A computer with a chatting interface
d. A machine learning algorithm
Al F "dedic” A BT Far 3 82
a. Tdh UATIGIC o1l 391 9 ¢ a3 gl &
b. T YTITH Sl SUARTGHATHT b AT ST BT JFBU eIl &
C. eI $e3 aTell Ve R
d. v A @t venfe
13. Which type of learning involves learning from feedback,
using areward system?
a. Supervised Learning
b. Unsupervised Learning
c. Reinforcement Learning
d. Semi-Supervised Learning

fod g ot f2rem & [REBR JumTel! &1 3721 B Bisdd d FET
onfed &7

a. Tfaferd srearaq

b. feT Tfagor & T

n n
C. daold Ul dlxdAl

d. 3ref-efaféra fareror




14. What is the purpose of the "Bias" termin a neural network?
a. To reduce computational complexity
b. To introduce randomness
c. To control model flexibility
d. To shift the output activation function
il Acdd A "JaTIE" A BT 3¢ FATE?
8. SR A STcerdl Bl HH P b fefv
b. TG BBl BT TRTY &l
c. A3A Aty &l IR &3 & fore
d. 3T3CYE AHAV BaI DI AR B B fere

15. Which of the following is a subfield of Al that focuses on
mimicking human thought processes?

a. Machine Learning

b. Natural Language Processing

c. Cognitive Computing

d. Computer Vision

frforfara 3 8 1 a7 Al 31 U6 398 8 off A4 faar gfepansi &t
THd B W DI 67

a. I3 3rferTy

b. TP HTHT GHTHI

C. AATATCAD DT

d. I gfe




16. What is the significance of the term "Big Data" in the
context of Al?
a. Large datasets that can be processed using traditional
methods
b. Massive volumes of data that require advanced
analytics
c. Data that is too small for machine learning applications
d. The storage capacity of Al systems
T3Ts & e B "7 3T I BT 1T HE@ 27
a. 93 3cre forg URUR® i) &1 U Bech FaAferd fovam o
THaT 2
b. ¥R AT A seT fords o7e 3=111 [d2@WU1 & ATaLAHT &Il &
c. STT oM HfH T 37U & fere sga B1eT
d. T3S e &Y MTRT e i

17. Which algorithm is often used for image recognition in deep
learning?
a. Naive Bayes
b. Support Vector Machines
c. Convolutional Neural Networks (CNN)
d. Decision Trees
e f2rerm1 7 B Tga & foTv 3R fod veniRed &1 39T fean
ST 87
a. ATGTH 9
b. gHF daes HA




C. TATeTeH® dldl Acdd (FeAe-)

d. Fofa s s

18. What is the primary challenge in Natural Language
Processing (NLP)?
a. Image recognition
b. Speech synthesis
c. Understanding and interpreting human language
d. Data storage
YTGTIc HTST JHERIUT (TATerdl) & YT Tl 7 82
a. BId UgaH
b. HTST Hb A
¢. ATAd HTNT &I FHSAT 3R 3! ARSAT Bl
d. 3TYR AT H3ROT

19. Which method is commonly used for feature scaling in
machine learning?

a. Z-score normalization

b. Min-Max scaling

c. Principal Component Analysis (PCA)

d. Gradient Descent

TN AT 7 IR Thfer & fore 3maaR W o fafer o1 3w
foa ST 82

a. Z-THR FTHTRIE

b. =TT -3 WierT

¢. JUTA Ued faeadyu (Tite)




d. SaeIT 83T 9

20. What is the role of the "Loss Function” in the training of a
machine learning model?
a. To measure the accuracy of the model
b. To minimize the difference between predicted and
actual values
c. To control the learning rate
d. Toinitialize the weights of the model
R AT Hige b YRG0 A "o BRI & T {87
a. HTSd &I Fetdbdl A9 & fore
b. 31r|H||-m 3R IEId® Aedl i & 91T 3R BT HH BT
c. SR B e @) i o & v
d. AT & doid B 3ARH B4 & fore

21. Which of the following is NOT a primary color for additive
color mixing? FHETIRIT & 3 S 1 ANTTHS 31 10 & oo

T fire 31 T8 87
a) Red
b) Blue
c) Green
d) Yellow

22. Which of the following is a volatile memory?

frforfara 3 8 & 91 v arfeer ARt €7




a) ROM

b)

c) Hard disk
d) Flash memory

23. Which of the following is a network topology?
[T & @ ®1F U Acad catarell 7

a) HTML

b) CSS
c) Star
d) JavaScript

24. What is the file extension for a Microsoft Word document?
Microsoft Word GTdst & foU Bred Uaic 9F T &7

a) .docx

b) .txt
c) .xIsx
d) .pptx

25. Which of the following is an example of a spreadsheet
software? FfRErd 7 3 B T Ws2ite GiTedR &I 33T 87
a) Libre office writer
b) Libre office Calc
c) Adobe Photoshop




d) Google Chrome

26. What is the purpose of an IP address?
a) To identify a computer on a network
b) To store files and folders
c) To browse the internet
d) To send emails

IP U0 BT 363 FAT&?

a. fH! Fedd W B Bf TEdT Bl

b. BTSE 3R PIes & GUENT FA & fere

c. YITAT BT YT

d. $A0 "o & foro

27. What is the default port number for HTTP?
HTTP @& forv fewiee O AqR T 87

a) 80

b) 443
c) 22
d) 53
28. Which of the following is a database management system?
fFeferRead & & @1 I SeTed U e YurTal 87

a) Microsoft Word

b) Photoshop




c) MySQL
d) Google Chrome

29. What does the acronym SQL stand for?
SOL &1 Bl BiH T 87

a) Structured Query Language

b) Simple Query Language

c) System Query Language

d) Standard Query Language

30. Which of the following is NOT an example of a cloud storage
service?
TR B @ S A1 F138 WXl AT BT IGTEI A6l 87
a) Google Drive
b) Dropbox
c) iCloud
d) Microsoft Word
31. What is the purpose of a DNS server?
DNS TR BT 36T FAT&?
a) To convert domain names to IP addresses
b) To provide email services
c) To secure network connections
d) To store website files




32. Which of the following is NOT an example of an object-
oriented programming language?
T B @ ©F i eide-3TRECs YIHTHIT HTST &7 3GTE0 6l &7
a) Java
b) C++
c) Python
d) Fortran

33. What is the purpose of an index in a database?

3CTod B 550 Bl 362 FAT 87
a) To organize and optimize data retrieval/ ST G-Yiftd B
e 3R Apierd el

b) To secure data from unauthorized access/ 3feipa ugd &
3T & B & fofv

c) To format data for presentation/ 9ai¢2M & o0 2T &I Bife
Pl

d) To store and manage data/ ST ®I TR 3R Yaferd &A1

34. Which of the following is a web browser?
FafeRa 8 8 &9 31 76 99 91301 87

a) Google

b) Yahoo

c) Chrome




d) All of the above

35. What is the purpose of a conditional statement in
programming?
T B G2 $U BT 362 FIAT 67
a) To perform different actions based on a condition
b) To calculate mathematical expressions
c) To store data temporarily
d) To create loops

36. What does URL stand for? J3Reel &I AelcTd a1 &7
a) Uniform Resource Locator
b) Universal Reference Locator
c) Unified Retrieval Link
d) User Required Location

37. What is the purpose of a cookie in web development?
d9 fqbrT A St BT I¢A FATE?
a) To store user preferences and session information/)
STRINTHAT B TIAHBAT3N 3R TF Bl AHGRI GUETT B B [0T0
b) To encrypt data transmitted over the internet/ §e34c W
TR 3¢1 Bl UIhE B3 & fefv
c) To format web pages for presentation/ 9oi¢2 & fofv 4
Ut} I YR Bl




d) To block unwanted websites/ 3/dif&d dgdTZe] B TiD HIA
o fore

38. Which of the following is a programming language
commonly used for data analysis and scientific computing?
IR B 8 B T GYITEIT 49T 3THAR I e faea@yur 3k
TS HITCI o felt IUAIT i Sifeit €2

a) Java
b) Python
)

)

c) C++

d) SOL

39. What is the purpose of a compiler in programming?
T B HUTSeR BT 3633 AT 87

a) To translate source code into machine code

b) To execute code

c) To debug code

d) To format data for presentation

40. Which of the following is NOT an example of a database
management system?
TR B 8 @1 I Serad Ya U JUITe &1 38160 78l 67

a) MySQL

b) Oracle




c) Photoshop
d) Microsoft SQL Server

41. How can you add a slide transition in LibreOffice Impress?

3y foraRaffieg s & wrss gifoTed &8 oI Tdd &7

a) Right-click on the slide and choose "Slide Transition "

)
b) Go to the "Slide" menu and select “Transition"
c) Use the slide transition options in the sidebar pane
)

d) All of the above

4?2. How can you apply a different slide layout to a slide in
LibreOffice Impress?

3T feTeR3TTRH $HI A Ve TTgs W Ve (e TTgs A33c b arl
B B 7

a) Right-click on the slide and choose "Slide Layout®

c) Both of these

)
b) Go to the "Slide" menu and select "Slide Layout"
)
d) Non of these




43. How can you insert an image into a slide in LibreOffice
Impress?

3T feTaR 3T 39 A ToiTes A v Bid B IiHTeTd &3 Jdbd 27

a) Drag and drop the image onto the slide

b

)
) Go to the "Insert" menu and select "Image"
c) Use the image icon in the toolbar

d) All of the above

44. How can you add animations to objects on a slide in
LibreOffice Impress?

3y foreRaiT e 909 B Tarss W Afeide B A & oS I&d
&7

a) Right-click on the object and choose "Animation’

)

b) Go to the "Insert” menu and select “Animation’

c) Use the animation options in the sidebar pane
)

d) All of the above

45. How can you start a presentation in LibreQOffice Impress?

379 fofel 36 T A Yol e Bl Y& BT Ahd 87
a) Press F5




b) Go to the "Slide Show" menu and select "Start from first
slide”

c)Bothaandb
d) None of thes

46.How can you save a presentation in LibreOffice Impress?

3T FeTaR3iT TG S H olc 2 D 9d Y Abd &7
a) Go to the "File" menu and select "Save"
b) Press Ctrl+S
c) Use the floppy disk icon in the toolbar
d) All of the above

47.How can you export a presentation to PDF format in
LibreOffice Impress?

a) Go to the "File" menu and select "Export as PDF'
b) Use the PDF icon in the toolbar

c) Both a. and b.
d) Press Ctrl+Shift+E




48. How can you add a hyperlink to a slide in LibreOffice
Impress?

3T foraR3fieg 309 B (hd! W18 & ERWRIds & oIS 964 67

a) Right-click on the slide and choose "Hyperlink’

)

b) Go to the "Insert" menu and select "Hyperlink"

c) Use the hyperlink options in the sidebar pane
)

d) None of these

49. How can you hide a slide in LibreOffice Impress?

31T feTeR 3T 7 H ¥FeTT$s ®l DA [BUT Hebd 7
a) Right-click on the slide and choose "Hide Slide"
b) Go to the "Slide" menu and select "Hide Slide”
c) Both a. and b.
d) All of the above

h0. Which of the following is not an operating system?
fTTerRd B 8 &1 91 76 3Twfes fed 781 €2

a) Windows

b) Linux

c) Microsoft Office

d) macOS




1. What is the main function of an operating system?
3TORTeTT RieeH &1 758 S 1 87

a) Manage hardware resources

b) Run applications

c) Connect to the internet

d) Create documents

h2. Which operating system is open-source?
B 7 3ifoRfe e 3iu=-ard €7

a) Windows
b) mac0S
c) Linux
d) Android

H3. What is the full form of GUI?
GUI T el BIH 1 87

a) General User Interface

b) Graphical User Interface

c) Graphic User Interface

d) General User Interaction

b4. Which command is used to change the current directory in

a command-line interface?




DHIS-AT2 eeidhd A IaH Hei[dT Bl ded- & [0 [ DHIS B

3T BT ST 87
a) ls
b) cd
c) pwd
d) mkdir

hh. Which type of file system is commonly used in UNIX-like
operating systems?
UNIX 578 3iTqRfeaT e ® B 3R R 6 YR & BIsa gumert &
ST T T STTeT 87

a) FAT32
b) NTFS
c) ext4
d) HFS+

b5. What is the purpose of the "chmod” command in UNIX-like
operating systems?
UNIX 578 3iTRfear Re A | "chmod" HHTS &1 3¢ TAT 27

a) Change the ownership of a file

b) Change the file extension

c) Change the permissions of a file

d) Change the file's timestamp




h6. What is the purpose of a shell in an operating system?
fot sifmfeT e & Idd B1 38T T 82

a) To manage memory allocation

b) To provide a graphical user interface

c) Tointerpret and execute commands

d) To schedule processes

31T 3T $7YC o fofv Hebel eape, STuRfea Riee o fofv 34 370¢
B AT BB ﬁ?ﬁ)‘(&ﬂﬁﬁﬂm@wlﬁwwﬂf
B FUTTRT AU AR AT e & St wrerd e T gae el
21 9o T TR e H & T FIR B3 BT U Il Y
GAfE

The shell manages the interaction between you and the
operating system by prompting you for input, interpreting that
input for the operating system, and then handling any
resulting output from the operating system. Shells provide a
way for you to communicate with the operating system.




h7. Which command is used to display the IP address
configuration of a computer in Windows?
31T A HRIeR & MU U3 BIBIRA B Yl B3 b fore fopa
HHIS BT 3T [HAT ST 87
a) ifconfig
b) ipconfig
c) ping
d) netstat

58. f-rifcferd & & foa 53 A ¢ Uof facbed Hisig g1l €7 Track
change option is present in which of the following menu?
a. File
b. Edit
c. Insert
d. Format

59. PAN @1 Bl BIH T 8IaT 87 What is the full form of PAN?
a. Permanent Account Number
b. Permanent Address Number
c. Public Account Number
d. None of these




60. Wi-Fi A ®H 3 &F URIas (a1 38 Tdd &2 What is the
minimum password you can keep in Wi-Fi?
a. 10
b. 6
C./
d. 8

61. TCP/IPH fBa- @R &Il 82 How many layers do TCP / IP
have?
A4
B. 5
C.6
D.7

62. MIME DT 312 87
What is the full meaning of MIME?
a) ACE [IRYT e3¢ TaI e oA
b) AT IUA Sei-c Bal Va2
¢) AT A S0 B Uad M
) IS el

o

63. $HT THISC BT R URAT IR T Ad TR &l 2 39 ... BEa
27




The storage area of an email account where all mail is
stored. Thatiscalled_____ ?
a) 3regnc
b) EEWRIcTd
c) HeTdlad
d) V3P
b4, $-A PIUEH M ... DT ST 87

The first part of an e-mail refers to ......7

a) AR

b) IR A
) 3Tl
d) e &1 aar

O

65. M H T DA AT5-Hd TARC & ?
Which of the following is an e-mail client?
a) 3M3cyd
b) $e3AC TNTTIR
) ACEby
) 1S el

O

d

66. §-Bd Wol1 & [P ... g4 B foeTd B3 ?
To send e-mail click on the .... button?
a) PRRAs
b) g




c) Rerrg
d) fseile

67. UG BA &) fodt g B Aol & forv .. Rfcas o 2
To send the received mail to someone else, clickon...?
a) Rems
b) RS e
c) BRAs
d) &g

68. UHID &R &1 Bl BiH AT eldT €
What is the full form of UHID number
a) Universal Health Identification
b) Union Health Identification
c) Unique Health Identification
d) None of these

69. 1A A 1 AT YD I INYUTRT §-Het FdT Y3Ta1 87

Which of the following is a free web based e-mail service

provider?

a) www.yahoo.com

b) www.gmail.com

c) G
)

d) None




70. G626 &1 W1 Government to Government &7
The full name of G26 is Government to Government?
a) True
b) False

71. UMANG U9 & N &1 01 ATH 1 87
What is the full name of N in UMANG app?
a) New
b) Now
c) New Age
d) None

72. 3MYUR ®Ts [GHS GRTARY (GATTATE?
Aadhar card is issued by whom?
a) UIDAI
b) RBI
c) None
d) Both a. and b.

73. 39 TS R & A1 TchId ,aReidd GHI TR & 110 FT
3T HN?
What would you use for instant, real-time communication
with a friend?




d

O O

)
)
)
d)

74. NeGP &4 oTd foam mam?
When was NeGP l[aunched?

a) 18 May 2006

b) 17 May 2007

c) 10 May 2006

d) 11 May 2006

75. UPIO9HC ScT%d ........... SR famfad ot mat?

UPI Payment Interface was developed by
a) National Payment Corporation

b) Finance Mini
c) Bank

d) None

76. I fPaRATTEAR?
What does the bank pay interest on?
a) None/ ®1§ gt
b) Deposits/ STHT3I
c) Both Deposits and Loans/ g1 oTHT3 Td U
d) Loans/ 0Tt




77. Ut A BT I (BT ST HBATE ?
Can a payee check be paid?
a) 96 & AHE BRI T
b) TEITA GRT
c) 96 T B oTH B
)

IS el

78. T Dt JeraT Al A8 ?
What is the validity period of check?
a) 4 Month from date of issue
b) 3 Month from date of issue
c) 1 Month from date of issue
d) Unlimited

o

79. 9B A TG G & ?
Bank does not give loan?
a) Gold Ornaments
b) LIC Policy
c) Lottery ticket
d) NSC




80. AEPS TS ®aTe Aadhaar Enabled Payment System?
AEPS stands for Aadhaar Enabled Payment System
a) True
b) False

81. POSE?

POS is?

a) Point of Sale/ @rge 3% ¥d

b) Position of Sale/ TTSTIM 3iTH Td
¢) Picture of Sale/ [UdR 31w I
)

d) None / ®I$ gt

82. T CIgH URIdS T Rfard 27
Why is One Time Password Safe?
a) I ST BT T &

b) ST AR &l & bl
c) TE W VAT & foTv =1 8
d) I TP Sicel TIPS UTHds &

83. TR T B I HEEA SidT JaT &7
Which of the following is a mobile banking service?
a) 39 oI o g
b) WTAT A &
c) T
d)

i




84. RTGS YU ®UE -
The full form of RTGS is -
a) RIa ergn 1 deade
b) R CIgH U1 YeaHe

)R
c) et erem i e
)

d) AT gt A T e

85. MUK AMfsT AT E?
What is Aadhaar Seeding?
a) 8% WA T 3MYUR ATBAT
b) 3TYR BT DI TIC 3T T 5T
¢) ATYR BT B 79 BATH  S1SAT

d) IS e
86. MR HgT fdeg TPIRS TR TR 3011 712 -

Indian currency symbol officially adopted?
a) b 3T 2010
b) 117etTs 2010
c) 13 57as 2010
d) 15 Sas 2010

87. QD &1 B TS THATH T o 19T FFIRT & ferv
freAferd = & B U e 87
Which of the following is used in the banking sector for
faster settlement of large number of Cheques?




88. IMPS Stand for -
IMPS Stand for -
a) sHIfsTe UHC AfaH
b) sHifsUe T Afaw
c) sHifsve 9He fieen
) IS el

89. ¢ ST B JIAUT D DI A 9 UG el 87
Which banks provide the facility of net banking?
a) T¢¢ 9 3T SIUgaT
b) 79 31 U A 4
c) 9 3iTH asial
d) Tt

(@

90. TCTH A Sfoe BIS TR Hige #AT H fober 37 €7
How many digits are there in the number printed on the ATM
cum Debit card?
a) 12
b) 14
c) 16




d) 10

91. Jfe BIS HMT FTEN ATATIRUN & ATYUR W YT HTAYUITE B
9T ged bt 8, 1 HAT B FAT BT ST 87
If a machine can change its course of action based on the
external environment on its own, the machine is called?
a. Machine/ A3
b. Intelligent/gfeaAT
c. Hardware/gTsdaR
d. None/®1s gt

92. anfefpfarra seforaia & forv fmforea 3 @ o @ am=

HTYT 87
Which of the following is the common language for Artificial
Intelligence?

a. Python

b. Java

c. PHP

d. Cobol

93. FrATerRerd = & B AT GO FRAHTT BT 3THANT A8 87
Which of the following is not an application of artificial
intelligence?




a. Natural Language Processing
b. Database Management System
c. Digital Assistant

d. Computer Vision

94 TTHITeTRre A @ I A1 U6 UPR &I PhiA gieaH Uoic &7
Which of the following is a type of artificial intelligence
agent?

a. Simle Al agent

b. Learning Al agent

c. Goal-Based Al agent
d. All of the above

95.  JMfchBiRIe geferotd gfeein & fafi= YR T2 8?
What are the different types of Artificial Intelligence

approaches?
a. Strong Approach
b. Weak Approach
c. Applier Approach
d. All of the above

9¢6. frforfer & @ foa snfheaas & eifere W& & & ¥t o
ST 87
Which of the following architecture is also known as systolic
arrays?




a. MISD
b. SISD
c. SIMD
d. None of these

97. TH Al Tole 39 TITaRUT & 1Y HF geide Pl a?

How an Al agent does interacts with its environment?
a. Using sensors and perceivers
b. Using only sensors
c. Using only perceivers
d. None of the above

98. frmferfara & @ ot T snfefsira sefersia &t aman 82
Which of the following is the branch of Artificial
Intelligence?

a. Machine Learning

b. Cyber forensics

c. Full-Stack Developer
d. Network Design

99. nfefpfarra seforaia &1 wea FE?
What is the goal of Artificial Intelligence?




a. To solve artificial problems/ SHH THTATT BT THTEM
hIAT

b. To extract scientific causes/ IeTTH® BRI FABTE]

c. To explain various sorts of intelligence/ e & fafi=1
UHRI B AT B3]

d. To solve real-world problems/ AREITA® T B THRATNN
B! & B & e i

100. Fr=forfara & @ fog Somiter & amer i anfefbira seferaia
B T fb T T 27
Based on which of the following parameter Artificial
Intelligence is categorized?
a. HAd BIATHBA IR 3MeTRT 8/ Based on functionally only
b. dhdd &AM & MR W/ Based on capabilities only
c. &3l 3R BrITHG & 3MeR W/ Based on capabilities
and functionally

d. 3 I7Ipd 76! [dAT AT R/ It is not categorized
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